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PART - 1 / Y’ - | CODE (G)

CHILD DEVELOPMENT AND PEDAGOGY | a1et iy 3 vemremrey

ire tion : Answer the ﬁJIlowmg questions (Q. Nos. 1 to 30)_b}/ selecting the correct/most g
Direction :

Frder : frefafaa yoil (3. 9 1 230) F IR F

1. Jean Piaget perceives __———

R s s o gy

to be ———*—-—— Lev-Vygotsky believes

to be

i Hivze mmahmfy; egocentric speech, effective in self-regulation
i ch, a sign of cogni Ly
(1) Private spee ) i Dbt i o i e
ive in seli-reguiation, , @ sign of cognitive immaturi
(2) Private speech, effective in self-regul B 1% gn gni ty
(3) Egocentric speech, a sign of cognitive immiatufity; private speech, effective in self-regulation
(4) Egocentric speech, effective in self-regulation; private speech, a sign of cognitive immaturity
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2. In an inclusive classroom the teacher :

' it varied needs of children.
(1) Modifies the curriculum and pedagogical strategies to suit varied ne

- etitive spirit,
(2) Tries to encourage children to do better by promoting comp p

(3) Identifies “deficits’ in children and correctly labels them.

(4) Segregates children baseq on differing aCE:_d_e_f?iC capabilities.
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An example of ‘class inclusion’ :

Assertion (A) : Lokesh has trouble with classn._l’—ymg one concept (Delhi) as a subset of another

(India). 3

Reason (R) : Understanding how emotlﬁrls affect memory and learning ¢
regulated learning. 5™

an lead to self-

Choose the correct option.

(1) (A) is true but (R) is false.
(2) Both (A) and (R) are false. O
(3) Both (A) and (R) are true and (R) is the’ cg:rect explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).
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Which of the following is an example of a question t promotes analytical thinking ?
(1) Which factors contributed to the outbreakip? or]d War II ?

(2) Who was the leader of Germany duri _:_:_.".:"4.';- War II ?

(3) In which year did World War Il end 2
(4) Which countries were directly involvedin.
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5. Which of the following is an example of a performance goal orientation ?
(1) A student studies hard to learn as much as possible from the teacher.
(2) A student studies hard to further her ewn growth.
(3) A student studies hard to achieve a deep-understanding of a topic.

(4) A student studies hard to get a good Me and be better than others.
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6.  Assertion (A) : Inan inclusive classroom, all curriculum adaptations should be directed to lower
the educational standards for ‘Special children’.
Reason (R) :  “Special children’ do not have any potential for learning in mainstream classroom.
Choose the correct option.
(1) (A) is true but (R) is false.
(2) Both (A) and (R) are false. Y
(3) Both (A) and (R) are true and (R) is the dorrect explanation of (A).

(4) Both (A) and (R) are true but (R) is nok the correct explanation of (A).
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7.  Howard Gardner's theory of multiple Mteﬂigeﬁce proposes that :
(1) Intelligence can be measureq accuratély and predicated precisely.
(2) Intelligence can successfully predict dcademic success.
(3) Intelligences change over Hftie oy
(4) Intelligence is primarily inherited. 7 ¢
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10.

P11 (MR

While proposing the relat -
ati i '
conceptualized language as :/Il:;l tp Peteen lang o

(1) hinderance to the development of cognitive abilities.
(2) Independent domain which is not related to‘t;Ef“t“’“
(3) cultural tool which facilitates cognition in m;I iale ways.
(4) form of egocentric speech used to only ﬁ;lfﬂ]baélc needs.
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Changes in emotion, self-perception and interpersonal relationships with families, peers and friends
are studied under domain of development.
(1) Linguistic (2) Psycho-social ~ (3) “Physical (4) Cognitive
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Assertion (A) : Creating an environment o_f fearﬁzmd stress keeps students ‘on their’ toes and
facilitates meaningful learning. =

Reason (R) : Learning is govemed only by extrinsic factors.

Choose the correct option.

(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the Corf_f fola“atiOn of (A).

(4) Both (A) and (R) are true but (R) is not the ofrect explanation of ().
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11.  Ateacherw
ants to enable meanmgful and analytical learning in h
for students to connect their prior knowledge to new conegepts el;/t}}?rscshbgfptli?: lfctljlllllg CPPOrtunitieg
Ong teachip
: g

strategies would be most effective ?

(1) Ask students eﬁf)ef
to share their own iences rela
thetn to ARIOHE E related to the new material and then connecy

(2) Providing students with byugﬁ gll w m
a step- d
rhie P ide on ho to co plete a task related to the new

(3) Lecturing on new material i
(4) Assign sfudents to read &etii?@%fpi:izmﬁe: :z::;;g :: r’c}l:ls iy
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12. Ten year old Kakuh is stru 1m v, M
: g8 g w1ﬂm:d1ff1c111t math problem What can her teacher do to

enhance her problem-solving skills ? .
(1) Encourage her to keep trying and:eﬁer scaffoldmg when needed

(2) Give severe punishment so that it #s Egget repeated in future
(3) Give her the solution to the problefe

(4) Tell her to skip the problem and nggqi;a on to th
mmaaﬁa;@—cﬁwﬁm%tﬁmmnaﬁgﬁqy@%l
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13. - Fiza analyzes that she has more problem_gy learning topic X ﬂlavlv‘hlillllei?lﬂu:f follo
is interested in topic Z and is paying fstused attention to it
describes Fiza's abilities to analyze her tﬁrﬂ(mg ? o Memory
(3) Metacognition *)
% apiifen o T 2

(1) Cognition (2) Cognitive qer;ﬁlct et
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. Which of the following
(1) To provide feedback 10

(2) To identify the areas where

@) To give students the oppor

@ To identify the attitude patte :
their needs.

frefafad A B FH-T HYF AR SAHTT

1) ﬁmﬂ-ﬁ‘ﬂ—ﬁﬁﬁ]mﬁﬁlﬁﬁﬂﬁﬁ gl

(2)
@)




T

18. Assertion (A) : 12-year Amana gets scared every time the teacher asks her to answer or solve the
maths problem on the blackboard because she fears that the teacher will scolq

her and she would be embarrassed.

Reason (R) : When students feel unsafe and anxious their learning is adversely affected

Choose the correct option.

(1) (A) is true but (R) is false.
(2) Both (A) and (R) are false.
(3) Both (A) and (R) are true and (R) 1S ﬁ1e correct explanation of (A).

St
(4) Both (A) and (R) are true but (R) isifiet the correct explanation of (A).
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19. Which of these statements would advoc:abes of progressive education agree with ?
(1) Children are born in a social, cult-ural economic context and this background influences
their development. "

(2) Children are a distinct life-stage that hold importance because
as adults’ rather than ‘what they are as children’.

of ‘what they would become

(3) Children are naturally ‘good’ and society corrupts them.
(4) Children are naturally * UIlClVlhzed’ and socialization is necessary to make them moral human

beings. £,
gﬂﬁ?ﬁam%ﬁwmﬁsﬂﬁﬂﬁmwsqwgﬁ?
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20. You are a teacher who wants to enc

. of the following strategies is most | Ourage your students to

ikely to f f thmk:n'-

(1) Giving students multiple-choice zests :305 tz:e:sg;:tgelflfnowledge'- .

(2) Lecturing on the topic and providing students with detailed notes.

(3) Assigning a project in which students must memorize and present info mat

(4) Providing students with open-ended queshghns to come up with their own solut

919 T T & S o I R sei st w9 8 A # fa s 3
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hallenged, teachers should use




23,

24.

25.
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Followi.ng Lev Vygotsky’s ideas, a teacher should :

(1)  encourage students to compete with each other.

(2)  practice reciprocal teaching with her students.

(3)  discourage the use of cultural tools by students.

(4) disseminate the knowledge to be memorized by the students.

& it 3 famia 1 9T FH g8 T e 1

(1) ﬁmﬁw@%mmm#mmmaﬂ%m
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(3) P gra Wit Sl 3 S 1 e F =
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" Which of the following are effective strategies to teach new concepts ?

(1) Presenting examples
(ii) Presenting non-examples
(iii) Promoting thinking about relaﬁonShips amongst concepts.

(iv) Giving a definition and encouragmg students to rote memorize it.
1) @), @), @) (2 (), (W)r_(l)*; G G @ 4)
as‘aﬁwnaﬁﬁua?rﬁ;mﬁﬁﬁf@a . S G e AT § 2

() SarRT gEd S
@) TR-SIRT FEA ST
(iii) aqawnaﬁ%mﬁaﬁa‘zﬁa:aﬁﬁﬁﬁﬁmém

(iv) @qﬁmmamaﬁtmﬁaﬂs@maﬂ%#ﬁmmamr

(1) (@), @), i) (2) (i), (iV)%A___(i)‘_iﬁ (3) () @)

(1), (i)

(4) () (i)

gnitive development as :
effective adoption to the environment

2
Ad4)

Lev Vygotsky views €O process

(1) a unified process
(3) a collaborative process

an individual activity
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26. Which of the following statements about Lawrence Kohlberg's theory is correct ?
1 It presents conflicting situations to children
(2) It takes into account effects of culture and-gender on moral reasoning.

3) It Eioes not specify exact stages for progre:é_’éisj_‘l of moral development in children.
(4) Itis based on the study done through exﬁﬁéﬁental methods.

eite et 3 Fogi & i 4 ffif 3 3 S o T 2
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! 27.  Which of the following is an example of assessment for student’s learning ?
(1) A standardized test used to compare students across the country.

(2) A rubric given to students at the beginning of a project, outlining what they need to do to
achieve a certain grade.

(3) A final exam that covers all the material learned throughout the term.

(4) A quiz and brainstorming at the beginning of class to check for prior knowledge.
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28. Assertion (A) : As compared to boys, girls have.an innate tendency to be affected more by social
and cultural factors. = =

Reason (R) :  Girls are genetically more sensitive and emotionally
more likely for them to conform to societal expec

Choose the correct option.

(1)  (A) is true but (R) is f?lsls

2) Both (A) and (R) are Ialse. .

§3; Both E A; zd :R; are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are trué but (R) is }:’ft t]gf’*-:‘f?“e“ explanation of (A).
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weaker than boys, making it
tations.
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29.  As per Jean Piaget's theory of Cognitive Development :

(1) Memorization should be prioritized over learning through experience.

(2) Previous knowledge doesn’t play any role in the process of learning.
™

(3) Biological factors such as maturatien don’t play any role in cognitive development.

B
(4) Learning experiences depend orﬁéﬁéldren's current level of cognitive functioning.
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30. The behaviours, interests, attitudes, sklﬂs and ersonality tr
’ ts
for specific gender are referred to as’_ 2 and t:::re TR TR i

(1) Gender identity; culturally deﬁfﬂé
(2) Gender identity; genetically determmed
(3) Gender roles; culturally defmed

(4) Gender roles; genetically determined
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Candidates have to do questions 31 t
Part - III (Social Studies / Social Scie

qemrefat & 99T 31 7 99 AT A W - 1 (T 7 far) 9 9T - 111 (AT 3reEa / amas
famrT) @ & & %

T S

IMPORTANT | w&waqol

0 90 EITHER from Part - 11 (Mathematics and Science) OR from
nce).

PART - -39 - II
MATHEMATICS AND SCIENCE / 71fora 9 fasma

Direction : Answer the following questions by selecfing the correct/most appropriate options.

Faer : FTETfeirad Tl 3 ST a7 % fore sl a Gudat fased 9rg

31,

32,

33:

In a pentagon ABCDE, £A=(2x+9°), (JB=(2x+1°), £C=(2x-1°), £D=(2x+5°) and
£E=(2T-4°)_ Then, value of (2I+l[}°) is: £%

Sl YTNT ABCDE ¥; £A= (2497, [uB= (1419, £C=(2x-17), £D=(2x+5) 3
ZEB=(2x—4°) 3199, x+10°) FI AR T

(1) 118° 2 124 @) 114° 4) 116°

The two corresponding angles formed by the intersection of two parallel lines by a transversal are
(3x—20°) and (5x—60°). Then, the value of (4x+30°) is :

ferelt fordeh gr <t waieR Y@l % wfrseea ¥ 89 3 W S (3x—20°) 3R (5x - 60°) ¥ 1 T4, (4x +30°)

FUAE: i
(1) 130° (2) 150° 43) 90° @ 110°

Which of the following is used to record stigdents problem solving ability, measurement ability

{Y:

and experimentation ability ?
(1) Anecdotal Record
(3) Cumulative Record

Frtferfer & foerehn Sweim forenfeal  FHe-SFAHT 0t e, W 39t veen, weivmrer v e
1 feer Tt 3 ferg fo e €2

(1) SqrEeE (2) foew s
(@) wwh fE (@) fadwe

SPACE FOR ROUGH WORK /X% %t % forg wrg

; -
et
P

= L™y
{2
F s =
LA

N
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A nine-digit number 565x9274y is divisible by number 88. Then, the value of (2x+3y) is :

T -siFT TN 56519274y, HEA 88 H FAMA ¥1 7, (2x +3y) FI A T
(1) 24 2) 22 (4) 25

If x=k, is the solution of the equation :

x—4 =% X £z A
= =—3—+x , then what is the value.




37. Many occupations such as accountancy, banking, shop-keeping, tailoring etc. requires IRLEIES
directly or indirectly, This is an explanation of value of Mathematics.
(1)  Utilitarian (2) Professional (3) Disciplinary (4) Cultural
T B T S i e (foa-Fortrry, fei, g, fircrs a1 M gefe  woae 21 A &
8 TR T S e ¥ 1 7 v Ted F e 2 |
1) SuAfrER (2) =EEfaE ) (3) fawarceTs (4) WiwpfaH
38. Ois a point on line AB. Rays OC and Oi_D__are drawn on the same side of AB such that OC L OD,
ZAOC=x and ZBOD=3x. Then, ZBOD:is equal to :
@1 ABR e O ww fifg 31 AB % ww @ ikt 3 firedt OC #iOD 29 vehR @i T ¥ fF OC LOD %,
ZAOC=x 3R /BOD=3x ¥ 74, /BOD &R & :
(o] 10 10 o
(1) 60 @ 6 ¢ 2 4) 45
39. The value of 31096 + (2704 +2) + 0.67384 0:63 +0.059—0.79 is equal to :
31096 + (2704 + 2) +0.6738 + 0.63 +0.059 =0.79 T HF S ¥ :
(1) 24.6728 (2) 245728 «in (3) 23.6728 (4) 23.5728
& =1
40. Which of the following rational numbers:-lie between BT and o ?
G ST Y N
fre @ wm-9 o Fed 5 it - & e A e 2
By 2 s
D 53 5
=3 -1
1)) W
15
prr [NV |

- S —




~ 41.  Ifxisthe smallest number which is to be subtracte

d from 2605 to make it perfect square, then g,
value of (4x+7)is:
: ‘;~mx“qﬁaqmt,ﬁﬁzeosﬁﬁﬂaﬁq?%@ﬁwﬁ%, W @x+7) T

M) 27 R %) SIEFEERL (0 (5 i’é (4) 23

LW IS,

ah article is % 750, It is 5ol for 7 608 by giving 24% discount on its marked pric
on its marked price, then what would have been the profit percent ?

42, The cost price of
Had it been solq

O ST, 5 o

H
> ' . v i T s ROV
3 se gl { { i % % 5 () ¥ {
= N “ g T \'_.Q_ BT A T .',,-E,- L |4 - 37?5\, |"_“l.
Y . - o 5 L% i TNER
y B22TE ".J" : J YL 1 4,

L T HREon s ghk ol i
N Which PQ < (4.4 1) ¥y RR=26.m RS=25 cm ang PS=@3y—1) em.
Wi, ¢ Y o I Ghacd ;o0

WPQ#%H?@»Q@‘-% cm, RS=25 cm mmf@ﬁl) cm ¥ 79,

b )

: ea ; =3 — == — \
SPACE FOR ROUGH WOR% @1d & fow sy |

. ’(i) 39

21463

(R

B 8 e e
16 :




R, | ===

21463892

" i} solid cube of sige 17 cm is cut into small solid cubes of side 4 cm each. What will be tfhfhrels.a;:ﬁ
etween the total surface area of the original cube and the new total surface area ol the
cubes so formed ? 5
N
(1) New total surface areq wﬂlh% of the original total surface area.
L
(2) New total surface area wﬂl‘"ﬁé‘l}mce the original total surface area.
=
(3) New total surface area w1115;b"§j“5 of the original total surface area.
(4) New total surface area Mﬂéﬁtﬁwice the original total surface area.
12 cm 31 A1 T 3 T H1 B I A e o B @ v 97 4 cm § 1 WRFYF 57 %
EERLIR Wawwmaﬁm@%ﬁ%wmm%ﬁaﬁwﬁéaM?
; 1
(1) T B TS G R ot T e 5 A S
(2) N FE T A IR e YRt e e @ s
L O 1
(3) TN Gl TR R WRIH g IR QWWEE‘TWH\
ides AB and CD of 4 tr ; ;
. tance between the parallel si frapezium ABCp
45. "(I:‘}Bzdztifrln and AD=BC=13 cm, then area of the trapeziym o 1s 12 cm. If AB<CD,
: : | AB #R CD ¥ o
el et ABCD 1 THIA IS ( zﬁ)ﬁnwlzm%lqﬁAkCD,CD:zflcmH%ﬂ
_ 13 cm %, 1 7 et 1 QAR (em? ) T
AD = BC =13cmrv,
P (3) 1235
(1) 247 @ 2N @ 114
R ROUGH WORK / TG s i
SPACE FOR ;&9 Wt % o e
17 G
port. (IR




ol



e ¥

49. On the basis of the information given in the statement, which of the suggested course of actj
logically follows ?

. - : - nsuration.
Statement : Anamika does conceptual error while solving problems on mMe

Course of Action :

(I)  Teacher gives a lot of hands-on and visual practice to Anamika.
(I1) Teacher provides the scope of discussion while giving open—ended questions.
Choose the correct option. |

(1) Neither course of action (I) ﬁb: course of action (II)

(2) Both course of action (I) ant;i___(II)

(3) Only course of action (I)

(4) Only course of action (IT)

o § @ T THER  THR K, ﬁﬁ@ﬁﬁmwmﬁﬂwm%?

COEE Wﬁmﬁﬁwmﬁmmﬁmmm@zﬁm%l

(1)
(11) ﬁf%@ﬁf@ﬁﬁmm ¥ FaE JEH B 2 |

T s I | i

(y A e () SR )
(2) R () 3R (1) <A1

(3) Ha HIas (I)

(4) Had FEAE (1)

SPACE FOR ROUGH WORK / T &rd & Tt s

P-IL (AWM -
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54.

55.

56.

(1) Heuristic Method (2) Group Discussion Method

(3) Problem solving Method (4) - Lecture Method

Pt & & 4 < for e = v - fofe 32
(1) =@ Ny (Fhfes) fafy )¢ W yfea fafdl

(3) HEH wHwE fafy (4)¢ ¢ arr@:rm fafy

Which of the following numbers is written in the standard form ?
i 3 4 - e e w9 4 fereh 7 82

(1) 0.6x10%° (2 83.7x10-% J\(@) | 45x10° (4) a851057

AT |

For which of the following measurements, ’fTIeconsh'uctlon of triangle ABC can be done ?

fr= § 9 fo Aol & fag, ﬁgamcﬁw%r%f}mm%?
A%
BC = 4 cm

(1) ZACB = 120° ZABC = 257 AC = BC

(2) AB = 5cm, BC = 6cm, ZABC = 130°, ZBAC = 25°
(3) AB=3cm BC= 4 cm, AC = 7 cm

4) AB=8cm BC = 4 cm, £BCA=90°[£ABC =60°

......

SPACE FOR ROUGH WORK / T %14 & forg e
@)
)
XD

@ g
(L)
% ®

N

21




. nu 'Wrotgf

12<7<9<1)

Identify II:
1) AS

(3)
@)

pr1 (IR
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59. The distance covered (in metres) by a wheel of radius 25 cm in 350 rounds is (use w= %) :
5541 25 cm AT wqﬁamssoawmﬁﬁmﬁnéqﬁ (el ) @ (m= 372- %1 3TAN FHIf)
(1) 825 @ 1100 @) 275 4) 550
60. Which of the following represents the most important capabilities of learners to be assessed in
mathematics ?
(a) Ability to use abstractions to percé"i\;é relationships
(b) Ability to memorize all the formulae given in textbook
(c) Ability to apply mathematical concepts to solve problems related to daily life situations
(d) Ability to score full marks in mathematics
Choose the correct option. s
1) B, @and@ @ Bad@) @) @ad© @ @and(d
ﬁ%@ﬁﬁ@wﬁﬁaﬁﬁa@_ﬁéﬁﬁﬁﬂm@w@ﬁ%ﬁam%?
(a) wﬁlﬁmﬁ%ma@mmwaﬁﬁ &l
() Wﬁﬁquﬂﬁ@ﬁmﬁmﬁﬁ &l
© %ﬁmaﬁaﬂaﬁqﬁfwﬁﬁfﬁmﬁmm@aﬁgﬁwﬁ%mwﬁm STAMRONE 1 STIFANT FA
Y &l
(d)  TIfor B G 3 F BT I &
wd faeed 4 |
(™
O BORO @O OGS O @FO @ @FE
o)
SPACE FOR ROUGH WORK / & &ri % fete wmie
e
“ﬁ’,’""i“
oy
s
P (WM 23 G




(1)
(3 A
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64. Which of the followmg statements is correct ?

Sl
S2 .

p——

The normal temperature of the human body is 37°C.

Heat flows from a body at a higher tefipgrature to a body at lower temperature.

(1) Sl is observation and S2 is inference

—
o]
—

S1 is inference and 52 is observation
; (3) Both S1 and 2 are observation
(4) Both S1 and S? are inferences

ﬁmﬁf@aﬁ_@ FH-T F & §2

S1: HFE IR 1 WHRT a9 37°C $)

| S2: I I WM o101 IR | 1 aromm 9t v 1 3 gaifed 2t 21

| (1) SIS (Jew) & qen S2 wam 3
(2) S1 TFHM & To1 S2 v (Yamw) 3
(3) S1 3R S2 I sramET (Jew) £
(4) S1 3R S2 3T 1M ¥

65. While ice melts at 0°C, its temperature ;

(1) remains same (2) ;rfiFi;St decreases and then remains same
(3) increases 4) decreases

9 9% (fem) 0°Cmﬁm%a‘rmw _____

(1) FH @ (2) %ﬁm%aﬂtﬁtwm%

(3) Ee (4) weaE

66. Which of the following strategies would support inquiry oriented science teaching ?
(1) Engaging students in floating and smkmgiactlvmes
(2) Explaining the difference between real and apparent weight
(3) Define and explain Archimede’s prmaple
(4) Demonstrating the loss in weight of an 0@’3‘1 when immerseq i S,
Fefefiga & @ 1 9 WA St Wﬂ@?ﬂ“ﬁwwmﬁama
(1) ﬁﬁﬁﬁﬁﬁ@@ﬂﬁmmﬁm(m)m
(3) snffiE faraia F1 TR T S T
@) Wﬁgﬁﬁmﬁ;@a@#ﬂﬂﬂﬁﬁmm

25

XU (UM



Assertion (
Reason (R1)
Reason (R2)
1) (A)ist
(2) (A)is tru
(3) (A) is true
(A) is true ar
AfMwHT (A): =
e (R1) @ |
% (R2) : ST S of
(1) (A) T TN FTA (R2) A
(2) (A) T EHI (R1) 5 (R2) o
(8) (A) T & T (RD) 3% (R 3 4
@) ()T RY B (4) 37 g

p-10 [RHAIHANHIIED




70.

74 15

Rt | T T

Assertion (A) : Nichrome is used as a

heating element in devices like electric toaster and electric
geyser,

Reason (R) :

| Nichrome has high melting point and low resistivity.
(1)  (A)is true and (R) is false

(2) Both (A) and (R) are false
)

B :
oth (A) and (R) are true and (R) is correct explanation for (A)
(4)

Both (A) and (R) are true but (R) is not correct explanation for (A)

e (A) Wmmh@—a@mﬁqﬁﬁmﬁﬂﬁﬁmﬁ%mﬁ@mﬁl
& (R) : TThT 1 39 efmiss 3R e R S 2 |
(1) (A) W& & 9 (R) T ¥

(2) (A) ¥R (R) 2 e ¥

(3) (A) 3R (R) I WE ¥ e (R), (A) F T =rEm

)
(4)  (A) IR (R) T & € T (R), (A) F T = W 2 |

Children of all age groups have various ideas which may be different from science concepts. Which
of the following statements are true regarding these ideas ?,

(A) These ideas are usually stable _

(B) They are formed due to observable phenomenon |
(C) They tend to follow similar developmental pattern u
(D) They are easy to modify |

(E) They are often domain specific

1) (A), B), (©), (D) 2)  (A). (B), (C), (B)

(
(3) (A) @), © @ (), (©), D)

qeft 3 o ¥ = 1 far mﬁﬁ%mmﬁmwaﬂﬁf“ﬂﬁm%tﬁmﬁf@ﬁﬁﬁ

mﬁ%ﬁuﬁﬁﬁwgﬁ%?
(A) & sromd e e e €1 o e
(B) & Sfi (spqererdr) SRR F A

(A), (B), (©), (D)
) (), ), ©




72.  Assertion (A) : Arteries have thick and elastic walls as compared to veins. .
Reason (R) : The pressure of blood flow in arteries is low as compared to veins.

(1)  (A) is true and (R) is fcallze.

0 are false. _
g; go$ Ei; zg :ﬁ; are true and (R) is correct explanation .for (A).
(4) Both (A) and (R) are true but (R) is not correct explanauon*for (A).
AWHeT (A): sl =t gorn & sl = A sl e fufit 2§
% (R): ferrefl =t qorn & wwfel & w5 ware %1 g ww (Fre) 2 2
(1) (A) & & 991 (R) 7Te@ £
(2) (A) 3R (R) A e ¥
() (A) 3R (R) A W& & 7on (R), (A) F) W A R
(4 (A) 3R (R) 3 v & W (R), (A) Y & =R 76 2

73.  Which of the following statements are true ?

(A) Crystallisation is a chemical change.

(B)  Photosynthesis is a chemical change.

(C) Ripening of fruit is a physical change.

(D) Formation of curd from milk is a chemical change.

(1) (B)and (Q) @) (©and @) (3) (A)and (B)
frfafar ¥ ¥ A v § »

(A) TR (e uw et sied 2

(B)  HRI-H¥eA T TR ot ¥

(©) el 1 T T e R )

(D) 38 ¥ <& o7 Tk Tarife aRedy

O @O @ k@ @ (@esk (B)

(4) (B) and (D)

4) (B 3R (D)

74.  When aray of light enters from med

ium A to medium B, its speed decreases and on further entering
into medium C, its speed increages,

Which of the following conclusions can be drawn from this ?

(1)  Refractive index of A and C are less than B

(2) Refractive index of A, B, C cannot be compared from above information
(3) Refractive index of A is more than B and C

(4)  Refractive index of A is less than B but equal to C

ST FHR T O M A Y ey g A

mw“&‘ﬂawwmﬁr)m%mmwcﬁ
R I W () e 3

g@ﬁmﬁf@aﬁﬁﬁmmﬁmﬁmmm%?
(1) AR CH e B 7 §

@ ABC%W@W3ﬁWW%WWWHﬁHﬁWW%
(3) AT SATE B S CH s 3
(4) A TTEEH BT I W C

p-r (R o

T Taaamm—




75,

76.

77,

L P-IL Qe

The b
e buoyant force on an object immersed in liquid acts in :
(1) Al direction

(2) Parallel to liquid surface
(3) Upward direction

(4) Downward direction

7 5 58 (Frefim) foeat e et e e #
(1) W R4

(3) eTE fem

(2) T e § T

(4) e fewm A

Which of the following statements is/are true regatding relative reactivity of metals ?
(A) Zinc is more reactive than Iron but less reactive than Aluminium.
(B) Sodium is more reactive than Potassium and Calcium.

(C) Aluminium is more reactive than Magnesium.
(1) (B) and (O) (2) Only (C) (3) (A) and (B) (4) Only (A)
YIgaT 1 STfee sfvfwaTier & Gay § Frefatad § ¥ =9 91/8 F0 w8 2/%2
(A) 5w (=), de 4 sxfumaﬁqmwﬂa%mmﬁqﬁm@m sfufsramtia €1
(B) wfeam, mmmamm%

) Refufm, Hreifiem @ st sffmmiE €1

1) (B3R (©Q 2) @& (O) 3) - .(é) 3R (B) 4) Faa (A)

Which of the following have the most scope for promotlng Art integrated e e f
(1) Anecdotal records, Journal writing

(2) Journal writing, Field trips

(3) Portfolios, Anecdotal records

(4) Projects, Portfolios
mﬁﬁmwﬁmﬁmﬁaﬁwﬁmﬁmﬁgmﬁmm%?

(1) SR e, S a5

(2) et ored, &yl B

(3) i, ST yoral 51

(4) e (areETE), dréwiferdl 51

29




Sl
S2 :
G302

1)
(2)
3)
(4)

S1 $ SSg..__
SB@%WSI-

S1 Hél &; 5231‘Rss.
51 3K 52 wﬁ%s:a \

T




80. Assertion (A): Achi
Reason (R) : Probie_
(1) (A)is true angd (R) is'f
(2) Both (A) and (R) are £z
(3) Both (A) and (R) are t1
(4) Both (A) and (R) are &
ATRAT (A) STEM (%

T (R) : AH T
(1) (A) TR R (R) Tom B
@) (A) SR (R) 3 ToE@ ¥
@) (A) 3R (R) i W& ¥ 7o

(4) (A)3MR(R) [T E

. Which of the following statements'
dolphins ?
(A) They cannot use dissolved Oxygf
(B) They have gills.
(C) They have large nostrils. :
(D) They often come up to the water sufie
m ®OO @ @e6o 3
Frafafag § ¥ #F  F99 = 3R eSichid
(A) A feef ifadSA 1 STATT TRl







i

85.

86.

87.

P-I1 [gRnm

S1- Self Pouinfltion can take place only in bisexual flowers.
62 - Cross pollination'can take place only in Unisexual flowers.

(1) Slis true and S2 is false (2) Sl is false and S2 is true
(3) Both S1 and S2 are true (4) Both S1 and S2 are false
S1- TR S ffeit qodi (et # @ )

52 - RIS W qoif () A & WAk |

(1) S19& & qoM 52 77t & (2) Sifer & aen S2 9 ®
(3) S13RS2 3N T ¥

(4) SiaiR 52 3 e €

On the basis of the following information ldermfy the substances which give flame on burming

Substance State Vapourises on burning
A Solid No
B Liquid Yes
C Solid Yes
D Liquid No
(1) BandC () CandD @) Aand D 4 AandB
A 3 T sy
B 7a () Gl
C 3| &
D 7d () T
1) B3RC (2) C#RD () A¥RD @) AsiRB

Which of the following statements is/are true regarding nature of science ?
(A) Scientific ideas are not affected by cultural context.

(B) There is no single scientific method. :‘il
(1) (A) is false and (B) is true 2 Eég: (A) and (B) are false
(3) Both (A) and (B) are true 4) ,(.élbls true and (B) is false

P & & = /@ e Far A AR A T
(A) ﬁaﬁmﬁaﬂmﬁﬁmﬁmwmﬁaqﬁﬁ
(B) ﬁiqmamﬁﬁﬁfu(mﬁ)aﬁﬁl .

pe==—=s

(1) (A)Tem & iR (B) T E @ B B) 3 e 3
() (A) 3t (@) I TEE () (A) TR I () ropq 3
33




88.

89.

ate in a test-tube and adds 5 ml of Dilute J

(A) Sunita takes 0.5 g of Sodium Carbon:

: i h Lime water.

gedc .+ the above reaction thro-ug :
Wi cl? hi tpha ss;esnti:jiggsrg;:f;;i:l tlltlle chemical reactions taking place in (A) and (B)
Whi e follo w0
(1) -(}{\J) - NaHCO, + HCl = NaCl + H200+ COp )

(B) - Ca(OH), + CO, —» CaCO, * Hé )
2) (A)-NaHCO; + HCI — NaCl + Hy g 1,
B) = CaCO3 * HZO + C02 — Ca(HC 3)2 ik

(3) EA) - Na,CO, + 2HCl - 2NaCl + H,O * C:Dj
(@) (A) - Na,CO, + 2HCl - 2NaCl + H,O + COy’;

0O, + H,O P i
(B) - Ca(OH), + CO, —» CaCO; + Vg (L} :
(A) T - (Fe-zgE) # 0.5 7 Wfee e ot & fir S 5 fir.of. @ TS
oTerdt ®1
(B) aamafqmﬂmﬁqﬁﬁﬁivﬁr%mm?m%l
frmfafaa § 9 31 (A) 3k (B) § & W@ TaEtH sifulwasd w1 fFrefia s €2
(1) (A) - NaHCO, + HCl - NaCl + H,0 + CO,
(B) - Ca(OH), + CO, - CaCO, + H,0
(2) (A) - NaHCO, + HCI - NaCl + H,0 + CO,
(B) - CaCO, + H,0 + CO, - Ca(HCO,), %%
()  (A)-NayCO, + 2HCI - 2NaCl + H,0 + CO,-.
(B) - CaCO, + H,O + CO, — Ca(HCO,), .
(4 (A) - Na,CO; + 2HCI - 2NaCl + H,0 + CO5 ™
(B) - Ca(OH), + CO, — CaCO, + H,0 ()
Which of th? following statements is true ? <ol
(1) Soil with low water holding capacity has poor
(2) Soil with low water holding capacity has 01

EB) Soil with low water hol,
4)
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Candidates have to do questions 31 to 90 EITHER from Par

Part - III (Social Studies / Social Science). "
gitemfar &1 99T 31 @ 90 urahmr—n(ﬂﬁmaﬁm?)ww—m(mmm" T

IMPORTANT | mﬂf :
¢ - I1 (Mathematics and Science) OR from

frarT) @ & &1 SN

Directio

PART - 11l / m“;%ﬁmlmm

SOCIAL STUDIES / SOCIAL SQ_I_:_E!!CE -

n : Answer the following questions by selecting the correct/most appropriate options.

AT : ﬁmﬁﬁaﬁﬁ%sﬂ(&#%ﬂqnﬁ/ﬂaﬁwﬁmyﬁq:

31. Which of the following statements is/ aré?‘ccjrrect about planets ?

32.

33.

ot T

(A) They are lit by the light of the stars.”

(B) They are made up of only rocks.

(C) All planets have their moons.

Options :

(1) Only (B) and (C) (2) Al (A), (B) and (O)
(3) Only (A) (4) Only (A) and (B)
el ¥ A 3 fretferfia 3 @ B/ HUEa V2

A) ATR FvEmATERRNE

(B) o ele] FgHl A S A € -

(€ |t & % 7o =iiE B €

i
I
Tl

famea : —
(1) ¥ (B) 7 (C) @ (4), B 7 ) Th
(3) e (A)- (4)) T (A) T (B)

Who among the following worked with leather workers in Central India and also started Sathami

Movement ?
(1) Haridas Thakur (2) UB.Phadke  (3) Jyotirao Phule (4) Ghasidas

frefafad 3 § fFe 96 9Rd § 998 & H W a6l & .
3 2 g T FH Fo A W S 9 e
1) wemem (9 INFH- () FEEE (4 e

What type of winds are Land and Sea breeze ?
(1) Seasonal winds (2) ' Permanent winds
(3) Cyclone ‘(4) Local winds

(1) He T Q) TRl vy
(3) Hsha (4) T TEy
35
G



34.

(a)
(b)
(c)
(d)
(1)
(3)

(2)
(®)
(c)
(d)
@)
(3)

35.

Match the following and choose the appropriate opf

A

Punch marked coins

Northern Black polished ware
Amphorae

Arretine ware

(@) - (iv), (b) - (i), (c) - (i), (d) - (i)
(@) - (), (b) - (@), (c) - (i), (d) - (i)

frefeafan =1 e Fifv qon sugw fse #1957 Fif :

A

aed faar

ST FA THHIA TS

i |

Qfeq am _

(@) - (iv), (b) - (&), (c) - (i), (d) - (i) -

(a) - @), (b) - (), (¢) - (i), () - (iii) ,

According to the Uttaramerur inscription, whgj:ould become a member of a Sabha ?

Q)@ @), O~ O - ), @) - @)

(e

(3 (@) -(v) (b) =X

Foa kﬁj B

() e T THFHIR T

) m%mﬁﬁ#aﬁwaﬁg

sj{}} (@) - (iv), (b) - (i), (c) - (i), (d) - (i)
V)

(A) The owners of land from which land revenue is collected.
(B) They should be between 25 and 70 year%of age.

(C) They should have their own houses,

(D) They should have knowledge of the Vedas '

Options :

(1) Only (A) and (D) §irv) O?ly (A), (C) and (D)

(3) Only (A) ainins(4) iny (A) and (B)

mmﬁwwmwmg{mw
m%wmwﬁwmmm

() I 9 25 3R 70 % " B few {ﬁ‘;j

€ THTAMTENAML e

(D) 37 S 1 9 1 <afe N

faenea |

(1) ¥ (A) 3R (D) (2) ¥ (A), (© k(D)

(3) &4 (A) (@) ¥ (a) 3k (B

o od |1 TT LI i 115




5

, The most i :
36 most Important factor that influences the distribution of temperature on earth is :

97

(2) Crowded high rise buildings N

(3  Insolation or Incoming Solar Radiaﬁéz

(4) Seasons 4;‘3‘{;
qﬁtmﬁﬁamﬁ%ﬁmaﬁwwﬁam%,%m‘ﬂm%’
(1) ITTFRE | TN g f@

(2) S I v -

(3) A9 Hal G4 § W aett faw

(4) *°

Read the statements (A) and (R) carefully ﬂd-échoose the correct option.

(A) : Using resources carefully and giving thes time to get renewed is called resource conservation.
; B

(R) : Balancing the need to use resources aridatso conserve them for the future is called sustainable

3

development. %
Options :
(1) (A) is true but (R) is false.
(2) (A)is false but (R) is true.
(3) Both the sﬁmmﬂnw (A) and (R) are true and (R) explains (A).
Both the statements (A) and (R) are true but (R) does not explain (A).

@ _
M(A)W(R)aﬁmﬁﬁﬂmﬁqﬁﬁﬂﬁﬁﬂﬁﬁmgﬁ:

68E9

i

: [ﬂp”
r

I"Jkr

o & T (R), (A) F1 =S o §
T8 & £ (R), (A) T S T gy Y

' 37
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38. Which one of the following is incorrect ?
(1) In 1883, there was a furore over the attempt by the Government to introduce the lIbert Bilj
(2) The dissatisfaction with British rule intensified in-1870s and 1880s.

(3) The Arms Act was passed in 1878, disallowing Indians from possessing arms.
(4) The Vernacular Press Act was passed in 1880, to:support the Government.

frrefafea 4 @ w5 @ wd & 8?2 .
(1) 1883 TR 3 goa foret T e 1 Fre fopan ford et st e g
(2) 1870 3t 1880 ¥ g # farferw W F Y ST SR T T T

@) 1878 ¥ s wee wifta fopan T ek ST mﬁwaﬁwﬁwmwaﬁmmm
Lol

(4) TR e R & for 1880 H SRR F TR Wi fehan T A

39. Match the following and choose the appropriate option.

& B
(a) Grihapatis (i) Landless Labourers :
(b) Shrenis (i) Independent farmers——
9. (ii) Coastal Settlement _
(d) Arikamedu (iv) Craft persons et
1) (a)- (i), (b) - (v), (c) - (i), (d) - @ —
@ @- G 6)-6) ©- 6 @ - »
(3) (a)- @iv), (b) - (@), (c) - (iid), (d) - (i)

4 (a)- @) ) - (i) () - @), (d) - (i)
fpafafea 1 faam Hifse o 39gs fawe 94 ¢

A B
(@) T 0 TR N
(b) (i) A F oC \
(c) afemd (i) o FEm s |
d) g (iv) foeaaR -

) (@) - (i), (b) - (iv), (©) - (i), (d) - (i)
@ (@ - @) ®)- 0 © - @) [d) - (i)
) (@) - (), () - () () - (i), () - (i)

“ @ @- 6 ®)- 6 ©- @), @-

R | [T T (1T 38




0. Read
4 ead the statements (A) and (R) considering the art forms in colonial India.
Assertion (A) :

Re. ;
ason (R) :»  These were creatlvely adapted by Indian artists for local patrons and markets.
Choose the correct option. '

(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false. |

(3) Both (A) and (R) are true and (R) ls ¢ the correct explanation of (A).

(4) Both (A) and (R) are true but (R) s not the correct explanation of (A).

G IECINED wﬁﬁf‘mma@r%mﬁﬁwm@(n}ﬁq@

ST (A) :  SioFraf W 9t ¥ TG e &, e S A 1 A g
T (R) : ﬁwmﬁmwmaﬁzm%mawﬁma.
W fawes 94|

(1) (A)F& ¥ Afe (R) T €

2) (A) 3R (R) I e T i

€) (A)ai\t(a)aa‘mﬁ%aﬂt(mﬁ(muﬁw@nm%l

(4) (A)aﬂt(maﬁva‘r%@rm(mﬁm)aéwﬁm%l

Colonial rule introduced several new art forms, styles and techniques.

41. Neolithic sites are different than Palaealltluc sites because of the following :
(i) Mortars and pestles were used for grmdmg grains.

(i) Pots were used for cooking food."
(iii) Cloth was woven using different kinds of material.
(iv) Use of stone tools began.

Choose the correct option.

} (1) (i) and (iv) only (@ () (i) and (iv) only
(3) (i) and (ii) only o, @ () (i) and (iii) only
{ ﬁnﬁ@aﬁ@ﬁﬂmﬁwwﬂmwmﬂmqg

o e si s A S FAE % T T
(i) aﬁﬁwm@mmﬁﬁ;mmmml

i) Pt e <ol @ 9 T A

(tv) oo 3 sl 1 e S A -

| @ faemes 1 5 FIT
) e (i) 3R () @ F (), (i) 3R gy
(3) PaEe () 3R (i) (&) F (i), (1) s (i)

PO (T 39




I {R) el i
xplanation of (A)
srrect explanation
ation of (A)

} (A) FHE(R) Zr=1 7/E0 B |

(A) 317 s1f et & afy v b}
(R) =11 [@Et § 20 (A) 561 (R) Hel SHHE] R 3,

of which people were not able to compete
(B) Compensate for years of historical
(C) Appease people for political support and rally as vote banks
Options :

(1) Both (A) and (C) (2) Both (B) and (©)

(4) Only (B)
¥ ot s A | sy e T
Tl &

(3) Only (A)

st ifaer gry fawfas 7 e
oy dyoft T et e Fefererd el 3
73 4 TE 91

il & dfawfaes 2ua au AefoeE offeran 3 aifgfd &4 |

de s 5 0 oA e 9 X ferueinit 1 7 1 ¥

(A)

(B)
(€)
faaea :

1) (A) 3R (©) 3 (2 () 3l (O T
(3) FaE (A) (4) e (B)

-1 I MALRIA 10

e Brahimo

andd urdust
HHUSt practices needed to b

et T i T W TR SYETe o
T WU e e
= A

e A @
R R Eewr ur s &

id A) 3t = 3rsft ¥ = $ #1 st sl @ i
( T(R) =TI &l B &l (A) &1 (R) HEl 597 i) e Tl T *]
11 Reservation of seats .
ervili I seals in 1egis | 3 e
I gislabon ar ! ]
I 1d in Governmen 1 hs was grante d by the Indi L
] r . e n Constitutio
{A) mp Sale ¥ M BTades < u .
[ ] Compen ate for low X L]
W T md marks scoredin School and University examination: bex
i 1 k i Scl | ‘| V' EXAImIL » DECRUSE

suppression and educational deprivation

t apfergfil ¥4, i TH IO A A AT

F A
T T ast respectively ¥ \
L= . "

will it be at 6l

{ ame

h
) AT Green s
| 900 por
nd 500 aum

ad 900 aam
1T and 500 p 13} .

HE 1 ek 3 T R W
A e A & a0 AfEEs [ 0 '{k »
= 400 TR B HRA " - Jia

rETEA Al o-00) S
e A 5100 A

Tre A 9100 ‘fm

500 39

0.00 GATER T 5:00 IO

nwe measure

& york—=. how (& :
¢ 1 calculation ?

. while teaching i @ Gocial Science class, a _:tude:m_a.sl-. o
q ween L.lnm\mdv_-':a on Equator 7 What answer will be correct for suc
1y Dividing the half length of Equator with 360.
(2) Dividing the double length of Bquator with 0.
(3) Dividing the total length of Equator W ith 180.
(4) Dividing the total length of Equator with 360. .
o AR PR - ‘Wﬁ‘mmmwmﬁﬁﬂﬂﬁ

e EeACE ke AR T UH
U EE T ?

:ﬁ:ﬁ:mﬁ?‘f'mw%ﬂﬁw
#1260 R Frafem HTA

=
(1) foge e % Al T
2) f,mwﬁ?ﬁxm@mammm1

(3) e T s 1 180 & fanwfa wENA

(4 fayE vy % AT #1360 F fvytaa HE
1

poin (ENNAVATANEE




(1) A (A, (C) 7w (D) T €1
(< A 3
) (A) (B) (C) 78 (D) T FEI

(3) FEA (A), (B) 791 (C) HE

(4) = (B), (C) we (D) Wl E1

(1) Mag
o ; £ima, -'\I'.-t.mm;-f-h;. Rock, Sedimentary Rock
(< gnec >
b eous Rock, Magma, Metamuorphic Rock
) Sedime T "
dimentary Rock, Metamorphic Rock, Magma

(@) Igneous
gneous Rock, Metamorphic Rock, Se 1o AR T
For ooy B 2 o e gritary Kod
fiferfian & @ o1 9% 1 Wel FH A E7
(1) e, wrEratta de, sEEEr e
(2) @ de, H, it qo
(3) srEarE e, HAARE dre, 7o

(4) AT 9, FEAT e, srawrel e

it NIRRT

O T v

A
Which of the f
the following is the correct sequence ol k |
. ence of rock cycle ¢

: T pn‘l anon

~.__~n!\ e

1 -,:_-—mrr 25 e

(ST e
“hioose he apy rOpTIGE ‘W )
‘\m\ in mq%

s BF nd

the given \\-L.hm\ (A} and Reason (R) ST 1 e Ained
sesertion | A) Ay the late 18 Gth century the crakt of irom S plurg =
farT 2 S
st Teparim oy
neason (R) The iron smel \ pay avery high tax 1o vhe Forest Depart e
thedr Incoms

! \l‘T(l‘Cl X '*\llkl(\_

(A) is true bul (R) is false
ot (A) and (R} are false

and (R) is the correct € xplan ation Ot (A)-
but l\:l‘! je not the €
i - A Faaea =/, 1
e A e Tt A g v A

\ i .Lp\nm\\l

OTTEL

poth (A) and (R) are true
vtk (A) and (R) are frue

o R (A) 1 (R) T
s dd (A) - 4T T T >

e TR
T B T
5 35 L ST T o o ) 5

AT (R) et R 0 o A E3

HE )
T =
1) (A)ERE r'a'q-' 3 (R) TTEH ¥
(A) 20T (R) i e )
) (A 4 ',"-'ﬂ # § AA) %1 (R) HE ] 0\
£ (R) T 2 T T ®

1 (A) =i (R) 20 @ & oA (A)

poir RN 43




it choose the valid optigq .
Stes that hag B .
the Aryvans wer
fovement came from y

“quired access to education,
1S people
WN-Brahman ca SOES

th andg influence,

* the imlfgmnm
Stes with weal
Only (<€) is valid.

Only -(:1) and (c) are valid. ((-f; 8::: :Il:; i:'l‘c'l.ﬂidh
. T mm-wwwﬁwfaﬁaamwﬁﬂn%?ﬁﬁeﬁéu ¥
(@) % STITET R AT Rl 8 Rty ot
(b) AT 3 7% fay fon Y Ty

are valid.

farepeg -
(1) 9 (c) 3y 2 (2) Fa@(bydg g,
(3 %ad(a) 3ik (c) a9 &

(4) FFa (b sin (c) a8 &
52. Which of the following statementsiare true about the
18th and early 19th century colonised India ?
(@) Indian textile indus

try had to compete with British textiles in the European and American
markets. >
®)

(c)
(d)

development of cotton industries in the late

British market was now available for Indian textiles,

Exporting textile goods to England became increasingly difficult. :
Bengal weavers were worst hit as En glish and European companies stopped buying Indian
textile.

Options :

(1)  (a) and (b) only

(2) (o) and (d) only
(3) (a), (c) and (d) only

(4) (b), (¢) and (d) only - :
STEREH] V=t % a § iR Sradt varEt & giy 8 v 9ty 3 fased g wee s ® g
H fr=ifafaa 4 4 /7 8 #9799 &2 #

a)  YRAE F9S 3T F T AR smfat a4 fafe e sEmt | wfeerd FE €

)) MR F93 & o1 Ha fafen A 39er= A1

) maﬁaﬂaﬁaﬁ?@ﬁﬁﬁﬁammmﬁ?'@mml

) W%Wﬁmmﬁmwgﬂaﬂmﬁ?ﬁﬁnwwﬁﬁﬁmmm
dq # feari

W o

St (o) FEE (o) (D)
#ae (a) ¥R (b) il
Fa (a), (c) ¥ (d) ) FaE (b), () ()

%

54.

the iollowing r

jde on.
Coﬂf“d“ e (A} and (R) and choose the correct op
= The FPrairies are ‘.
(r\) | he Pf. . algo knohm as the ‘Granaries of ghe world L rier G e =
. Scientific methods of Cultivation and use of tractdrs, harvesters an
®) Gouth Africa a Surplys 5

food Producer, ™ i
()Pli“ns: 1 -
) (A)is'ﬂuebut[mismse O
'{2) Both (A) and (R) are fa1, A

explanation of (A)

4 Both (A) and (R) are true but (R) is not the corre}:’f"é(P‘la“ﬂt-;;;: .{A‘
el A (A) T (R) 5 forer iy ey et T 1 9 :
(A) = T 0 3 v 35 2 ot e

?) Both (A) and (R) are true and (R) is the correct

; = e Ew@
(R) : ﬁﬂ*mm@nmamm%wa'm“m
= fem ¥

1) (A) T EEIR) R t.‘:\i
(2) 2 (A) 0 (R) IR €1

T-
(3) 2 (A) T (R) T E, 9 (R), (&) W EE T D

(@) z‘ﬁfmmmmtf«am,mﬁmmfgx

{ resources ?
Which of the following is true about common property’ resour
(A) These are owned by government. :
(B) These are owned by private Companies.
(C) These are owned by commumties.

0pﬁ°§\; (B) and (©) (2) Only (A)‘; a,:? ©
(:) on:; (A) and (B) &) Only (B); -
;:ﬁmﬁﬁmﬁtﬁﬁﬁﬂﬁ%w@%? L}“
(A) ﬁﬂmﬂﬁlﬁﬂﬂﬂl%lmm 3
(®) Emﬁahmﬁﬁimwﬁat o
T B € e
(€ WRITTH = |
%:'aa(s)u(q @ FE B3O A
)

@) ¥ (®) LS
@y Faw (A)3E)

45



S was established by Knduml\\
(2) Madhya Pradesh

) Rajasthan

ST Y verfan feny o 2

(2) e Va?l

4) e

M.‘-_\'ura\h.‘\rm.m 4

dates Gandhiji asked
Act’?

the Indian e
le to Observe a day
P # v of NON-vig]
. eng
n 07 2
19 o

6 December 1919
S - (4) 13 April 1919
¥ fog w5 st Tt =i i
(1)

15 357 1919

’H?f?'ﬂa‘aqag’é;_m- A
(3) 6 et 1919

LlEafkC: =
(2) 6 frEmm 919 hm%‘lmm?

(4) 13 wd# 1919
57. refers to a situation w
to other persons.

(1) Inequality

mn ilable

here a person does not have resources and op

Portunities that gra
5 \ are
Dispossession (3)

s NS : Hierarchy
U feufa 1 Hed &t @ st fret s £

)  Diversificatio
T 3§ HEme - i
Ty £ TR ST 83 h o = 3
(1) FEgFEa (2) aeEE @) wrft (4) fafasie
58. World Environment Day is celebrated every yoar on which one of the followi
(1) 5% July (2) 5% August (3), 5% May (4) O;hll;ﬁ:: =
Freafatad 4 3 o fof 7o a4 9aieRe feam 5 s &2
1) 5o (2) 5@ (3) 5. @ 5

59,

Maps can be best used for IR
(1) Studying lives of people living in different times in a logical sequence
(2) Marking places where people have lived at different points in history
(3) Arranging sequence of events in history
(4) Elaborating on the most important events in history

Trfay %1 98 T fae 8 8 fpa fae @ s &2

(1) ST G T @ a1 @il % Stad ) adea aiF § el 2
@) <frara 3 Sre-srer WA A T AT il b el 1 fafed F 8
@) frera # w2 #1 G F o

(4) sforer & T St e @) fawga w0 & :
T 46 H

s e
rhich of the following are correctly matched
60 wWhic

Description :

i i famaty
.\\F;l‘lculm“ P“c.““s : Practiced to m ot the nesds M\i-.:::m’s. o.wn 2maly
gubsistence Farming -alent in the thickly populated areas

U‘:; [ntensive Subsistence Agriculture - ey

(

people andl animals maove from place ‘o place
~  ghifting Cultivation
(©) =

Choose the correct option.

A (O

1) () and © i [M(;{:gan 5

({3] (A) and (B) () (). &n

ﬁﬂﬁaw-ﬁmmwt?
=i T =0t ol mﬁ@@mﬁ:m#ﬁmh
fate % o

(A) ¥

S < At e\
(8) e FrafE T - mzﬁmﬁﬂﬁ;ﬁmmm%‘
 ) D o i Ty T R S SR
(C
i e T w &
1) HTO @A), @ FTOF
@) (A)INE (a) (B) 3 (©) :
' E
1. Match the following and choose the correct option.
B
A
A) Narration charts (iy stepsmmap
((B; Relationship charts (i) datain the form of table

(C) Flow charts

(D) Tabulation charts (iv) show cause—and—ei{ec.t relatim:\ships
1) (A-v), B)-G), (©-@) Or6 @) (A)-(), lB)'(ﬁ:l?» (C)“(‘Tf)f (D)'ili‘:)

@) (A, @), OO, 0@ @ _(M'(W)- (B)-(i), (©)-(), D)6

fre = TreE i T e T ==

(i) Thistorical dey elopment

=D
() e U il
@) T (i) Afew % T A
© W 9 TN
(D) S (iv) TP TEE ) o

! S (Ol ) (A)-(), B)-Gi), ©)-av), PX)
M) (AGv), @), O O @ ; B )
@) (AXG), @), OO OXE @ A (B)-Gi), (©)-). O)-)

a7
P11 (NIRRT

e



wint along with thousands of hla k i 1
lack wnd col

ey
o in Government

anud royal monarchy,

AR PR e i TR
theid and struggle against policies of e ea e

ot punishment r offence,

pexrs WEEm A Fe ¥ 28 wd el stedn @i S e fanrn

(1) wEEE e ga 1 owle s feg

(2) T N TawE ¥ fEere sy = % ez

(@) TR F N S0 o serE il & faers FT1 % fom )
(4) FE % AU ww e A

63. Read the statements (A) and (B)

and choose the appropriate option.

Statement (A) : Contemporary challenges to the principle of

= X > a democratic society are :
such as those between individual rights and atic society are conflicts

social responsibilities.

Statement (B) : Within a social science classroom, conflict resolution

: ; approach could be v
engage students to study ‘Problems of democracy’. pproach could be used in

(1) (A) is true but (B) is false. {2) (A) is false but (B) is true.

(3) Both (A) and (B) are true. (4) Both (A) and (B) are false.
F97 (A) 2 (B) 1 5few g91 I9gEa (G50, &1 997 Sifu)

T (A) ; FFAiE GAE F fHgid 1 @HEEE e § o & SfEm afuwn e
SHElgEl & 4rd 995 |

&9 (B) : AT faaT A % iy, A ] weeEl oA | frati w s e e
ferdTe WA S90TH W T A T E

(1) (A) @@ & 3 (B) 7oA 2)  (A) e & B (8) W E

() (A) 3 (B) 2 TE £ @)  (A) 3 (B) 2 e B

P-11 [ENHRIEIN

O 7 jve abilities 7
o following questions assess the evaluation aspect of cogrativ
i . » prtrition Jevel of Indian d
an Abhiyan is an ImMpOrEntprogramme to improve the nuf
W the statement with etidences.

RIS jal change in India, DO
,aial rule in India for two centurics Joft India with frrey ersible social changs
agree with this statement A Explain.
o the important features of Jan Dhan Yojana.

Dlescrik

1991 India. Justify this statement,

(! - ATVl e pHOSL
poverty and unemployment i {ndia has declined in ey
(D) e
(-}r‘iﬂﬂ:i : : 3
y (€Y and (D)
,y Only (8), (©) and (©) (2) (OntyC)an

aly (A) and (B) @) Only (&), (®) and ©
<y Omiy A )

: S k%
i€ v 2 B S TR Al S  #Es E 2

P i e TR

3 fmﬁﬂmuﬁzm?ﬁmrﬁwﬁqumqﬂﬂmw’?

Rl iy

: : ; 5 TEE A el A S R g

(B) éwﬁ-zﬁ%\mﬁ:mmﬁmmmw =

; W'mmwﬂm%?wmx

) :ﬂm?hmﬁnm‘w'ﬁm_'_'ﬁimaﬁrm? 1

oy 1991 % IER H i 3 Tyt i i | R i T T =

L

fawea -

ay e ) (O D) @ FOMO) \

3 e (C
@) ¥ (@A) FRE) B3 @) =R (A, (B) T

o : ple of dealing ‘
65. A belief that science requires a le'_dl_n'\ca'l mind and girls and women are not capal
7 with technical things signifies.:
(3) Sterectype (4)  Casteism

2 sEvEE B € ﬁl‘ﬁwﬁmmmﬂﬁ%

(1) Tiiteracy (2) lgnomance

m»mmmmamgmﬁm
o 1 WA A &, T T 6 :

(2) T () @ s

1) e
: G
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69
H99 Hwy e Ufererfaes wrmsif sy HB By oy Hifon
; T T g,

67. Indian Constitution lays down

(1) the structure of religious institutions

> . i
(<) normsfor Participation of people into social movements that seek to ch,
“hi0challenge the i, mmens
3 a £ %
(3)  the National curriculum framework
AWS or rules that have to be followed by everyone
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e objective of establishing Panchayati Raj institutions in India was to achieve
(A} Parficipatory governance (B)
(c) Democratic decentralization
Choose the correct aption.
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Cultural homogeneity
(D) Religious diversity
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Small workshops and factories prefer to employ casual workers because
(A) state has already taken care of workers’ benefits

(B) they can be fired without any prior notice

(C) most of them are not literate

(D) they could be paid lowest possibl
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hich of the following is an incorrect statement about Gram Sabha ?

(1) The Gram Sabha Secretary is responsible

Pathevat for calling the meeting of Gram Sabha and Gram

(2) The Gram Sabha Secretary keeps a record of the Gram Sabha meeting proceedings.
(3)  The work of the Gram Panchayat has to be approved by the Gram Sabha.
(4)  The Gram Sabha Secretary is an elected person.
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LANGUAGE - Il : ENGLISH

IMPORTANT : Candidates should attemp'_xt-_; _ggestions from Part-v (Q. No. 121

have opted for ENGLISH a5’ EANGUAGE-II only -150), if they

1.

121.

122,

123.

124.

P-IT [WRNIERIE A "

£y
Read the passage given below and answer the quéstions (121 - 128) that follow :

Surrounded by verdant forests, natural spfiﬁ@, and blue hills, Netarhat ’

secet, located in the district of Latehar, atgdistance of about 151 kum frop: fhr oo Cest Kept
Ranchi. This quaint hill station brings solace-and gives visitors much-deserved refupl % city of
hustle and bustle of cities. Itis located at an altitude of 3696 feet, al ge from the

: . iy | lowing people t : i
views. Fabulous sm}nses and stunning sunsets leave the visitors awgels)h*uglz g:ggimtgegr:h cent
beauty of this beautiful place, also known as “Queen of Chota Nagpur”, and return refreshelclinaia;

rejuvenated.
With its shimmering waters, sparkling reflections, cool air,
lake offers serenity to its visitors. It is an ideal spot for picnics,

you to go boating as well. Get closer to nature with the most beautiful forests in Jharkhand, and
the pine forests. Netarhat, with its pretty lakes, shady valleys, mountain villages and thick eVQl‘g";reen
forests filled with gorgeous pine trees, provides a panoramic scene to the visitors. The pine forests

surrounded by mists in winter, make any %raveller feel as though they have been transported to

and breathtaking scenery, Netarhat
and the lake's tranquil waters tempt

another world entirely. =

The most well-known location is the SunrisgPgint which offers a spectacular view of the sunrising
that resembles an oil painting. Visitors canpethelp but be struck by the sun’s rays as they emerge
from valleys covered in lush vegetation and cluster of tall trees. The most picturesque view of the
sunrise is visible from Hotel Prabhat Vihar, situated 17 km from Bazaar Haat. Netarhat certainly is

a perfect getaway in the heart of nature. Guésthouses provide cosy accommodations and a heavenly
dining pallete to its visitors.

|

As mentioned in para 1, .

the quaint hill station, Netarhat gives peace and calm to visitors because :
(1) they can enjoy train rides

(2) they can go paragliding from hill tops

(3) they can be away from hectic city life

(4) they can go fishing in the lake waters

IEW"I

F

(1) peace and calm of cities -
(2) busy and noisy cities L2
(3) beauty and eye catching views of citig}
(4)  stunning sights and scenes of cities £+

The phrase ‘hustle and bustle of cities’ mEh_EsE:

3

Complete the given word analogy :
gorgeous : beautiful :: tranquil : _2_

(1)  choppy (2) blue-green misty ) pearciol

The Sunrise Point offers visitors a breathtakingj view of :
(1) thesunrise  (2) an oil painting (3) lush vegetation (4) Both (1)and ®)
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? 125. E:;ad zle folloufing statements :
' : e-etarhat 1S located at 4 height of 3696 feet
| (B) Itis referred to as the ‘Queen of Ch :
(C) Netarhat i : i T
at is blessed with verdant b
0 {3 andrn ; anyan forests,
; (B) are correct, (O)lis incorrect
(2) (A), (B) and (C) are all corn:ggl!;:
(3)  (A) and (C) are correct, (B) s,incorrect
(4) (B) and (C) are correct, (A) is incorrect
W

126. Identify the parts of speech of th%.lﬁder]jned words in the given sentence :

Fabulous sunrises and sl‘urmmg—sdnsets leave the visitors awestruck .
(1) noun, adverb (2) Verl:;,gjadjecﬁve (3) noun, adjective (4) verb, adverb
iy
127. The underlined word in the phrase ‘this quaint hill station brings solace ... implies :

() ?t evokes curiosity (2) it brings peace and comfort
(3) it makes you breathless (4) it makes you visit the place year after year

128. Which one of the following scenic views is not found in Netarhat ?
(1) clusters of tall pine trees (2)  scintillating views of sunrises
(3) refugee camps "%, (4) Dbeautiful sunrises and sunsets

Read the passage given below and answer the questions (129 - 135) that follow :

1. It was Somi’s idea that we meet at.the pool in ten years time. “When we are men, we must come
back to this place, ten years froi;i}e'{g_:’:day,” he said. “Rusty, at midday on 5 April 1964, we must
return to the pool, no matter whézé.we are, or what we are doing. Promise?” It was a school boy’s
pledge, and made in deadly earnest. As boys, we usually mean the things we say. . And so we
shook hands on it and dived back:into the water.

2. The pool had been discovered b)LLme a few months earlier. I remember that it was going to rain...

I could see the rain moving across the foothills, and I could smell it on the breeze. But instead of

turning homewards, 1 pushed my way through the leaves and brambles that grew across the

forest path. I had heard the murmur of water and I wanted to see and touch it. Sliding down the
rockface into a small ravine, I found a stream running over a bed of shingle. Water trickled down
from the hillside, from amongst ferns and grasses and wild primroses. The rocks beside the stream
were smooth, and some of them were grey and some yellow. A small waterfall came down the

. rocks and formed a deep pool of apple-green water.

‘When I saw the pool, I ran back te town to tell the others. Anil and Somi were my closest friends.
Anil lived in a crowded lane of the Dilaram Bazaar. He was wild and a little dangerous, subject to

‘moods and impulses. Somi was Séﬁ?itive and gentle in his ways, but common with Anil he had a

. sense of fun and an instinct for ad@imtl.ue. The pool was my own discovery, and I was proud of it.

"_’Me’ll call it Rusty pool”, said Sq;fﬂi’}i}

‘.. ...apledge made in deadly darnest’ implies :

- a promise in complete seriousiiess

a promise not to be kept  {'¢
- being suspicious about-soﬁfs intention
to wish for the death of someone '

71

L | ' G




130.

131.

132.

133.

134.

135.

136.

137.

P-I1

Identify the parts of speech of the underlined words in the given sentence :

‘He was wild and a little dangerous, subject to moods and impulses’.

(1) adverb, noun (2)  adjective, noun
(3) adverb, adjective (4) aci]egﬂ!ve, adjective
Which word can be the nearest synonym for thé\éfﬁrd ‘instinct’ ?

= g

(1) inclination (2) hatred (3) ~affinity (4) premonition

Complete the word analogy given below :
crowded : deserted :: vigour: _?2

(1) weakness (2) lethargy (3) %’ileaviness (4) strength

What brought the three boys together ?
(1) their childhood mischiefs (2) their spirit of adventure
(3) their swimming talents (4) their earnest attitudes

Which one of the following options does not deég:ibe the pool in the stream ?
(1) apple-green colour of the water ('2) w@f_éﬁ trickling among fern and grasses
(3) rough rocks on the bed (4) m’:ﬂg’fng waterfall down the rocks

Who among the three friends proposed the ideaiifineeﬁng at the pool ten years hence ?

(1) Rusty (2) Somi and Rusty
(3) Anil (4) Somi-

==

Which of the following is TRUE of the study of classical language as advocated by National Education

Policy (NEP) 2020 ?

(1) Study of classical language during the preparatory stage.

(2) Study of classical language as a core language at the secondary stage.

(8) Study of classical language as an additional option during secondary stage.

(4) Study of classical language as an option under three language formula.
i

What are the stages involved in designing and @@irig a Project Work in language classroom ?
(1) Forming groups, identifying the topic, planning, collection of data, writing the draft,

interpretation of data, and finalization of thereport.

Teacher and learners can design and do tlié___:,_garoject work any way they want to.

(3) Forming groups, planning, collection of;fd;tta, interpretation of data, writing the draft,

identifying the topic, and finalization of t%iie_;_;rgport.

(4) Forming groups, identifying the topic, pfﬁnﬁng, collection of data, interpretation of dat?

writing the draft and finalization of the report.
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138.

139.

140.

141.

143.

. What is the status given to the English la

144.

:

anderstanding of power

A teacher of class VII wants her learners to read the short text with an the teacher aim to

and identity of the people and community presented in the text. WhaLERE
promote among learners ?

(1)  Analytical reading E(‘.’.)rj Literary skills ' I
(3) Language literacy (4) Critical literacy |

Which of the following is NOT true of laguage ?

(1) Language contributes to the sum ijiuman knowledge

(2) Some languages can only convey lsla;nce and engineering better
(3) Language expresses identity U_
(4) Language is a repository of histor:y

Learner understands and applies that language works as a system.
(1)  Sociolinguistic competence (2) Strategic competence

(3) Communicative competence (4) Systemic competence

A test which aims to identify an individial student’s specific areas of weakness and strength is
known as : o . =

(1) Diagnostic test (2) Formative test (3) Objective test  (4) Validity test

éuége in the Indian Constitution ?
(1) Foreign language (2 Language of statutory bodies

(3) Official language (4)  Associate Official language

A teacher of Class VII wanted to give a writing task of writing a description of a person. She went
out of the classroom and brought a Hawker to her classroom with his basket. She requested him to
be there for about seven minutes and then asked her learners to work in pair and write a description

of the person.
What do you think the hawker in this activity known as ?

(1) A participant in the activity (2) Materials

(3) Teaching Assistant {44) A Hawker
Top-down approach to listening mvolvé:{i}

(1) Listening to overall message of the ext, speech or the audio.

'(2) Listening to each sound, words, phrases, clauses and sentences,

(3) Paying attention to the specific details.
4) Listening to the gist of the speech, text or the audio.
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145. Aditi knows the rules of past perfect tense. But can’t use in a context. What knowledge does she
possess ?

(1) Declarative knowledge (2) Application. of knowledge

(3) Language acquisition device (4) Proceduz‘éii.‘%.nowledge

146. Kripa and Karan are twins and speak a p?rticular dlal?c:l of Manipuri. However they differ i
their speech, What is their individual special way of speaking the dialect known as ?

(1) Speech act (2) Manipuri (3) Idmlect (4) Dialect

147. Ashwin knows Odia from his birth and he studies English and Hindi. Based on this statement, find
which of the following statement is NOT true ?

(1) His English learning is language learning, |
(2) His English learning is language acquisition.
(3) His Odia learning is language acquisition.
(4) His Hindi learning is language learning.

148. Subash, a teacher of class VIII regrets, “Language asses;EifaTEZnt generally does not give importance
to receptive skills.” What does he mean by ‘receptive skills*?
'S

(1) Listening and reading (2) Speaking and writing
(3) Listening and writing (4) Speaking.and reading

149. Here is a text. Read and find out which language register does the text belong to ?

Suddenly, after the revolution, it seemed possible to change this. In many parts of the world
including Europe and Asia, new ideas about individual rights and who controlled social power
began to be discussed. In India, Raja Rammohan Roy and Derozio talked of the significance of the
French Revolution. The developments in the colonies, in turn, reshaped these ideas of societal

change.
(1) Social Science register (2)  Revolution register
(3) Science register (4)  Political register

Wy
L8 B

150.

i

LT
-

Instrumental motivation is when :

(1) person learns the language for their conmmﬁtié&?zaigious and social functions.
() aperson learns the language for writing a book. b i

| et
(3) a person learns the language for utilitarian reasor?],i{f employment.

(4) a person learns the language for being closer to the native speakers of the language.
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